LESSON # 23

TR ¥ 1T e Breakfast (3¥%) Morning (W)

= AP R = AP
Dinner (7&99) A day (= () Meal (fFT)
= TR [ = g3 e = 9F @R AR
Evening (3ffw) Lunch (7r=)
=50 = ﬁm I

People generally eat 3 meals a day, which we call breakfast, lunch & dinner.
(FEITE GRS A0 AR G, @STACS SN=T fT FAHCE TRl , Gt AR_R e o= 1)

P G breakfast, lunch 8 dinner-93 K0T ¢ I

We generally have breakfast at about 8 o’clock in the morning,
(SIS YRS A ASICR FT BT &I NGO N,

lunch at about one o’clock and dinner at about 8 o’clock at night.
PCRR AR QI S-BRTE, @R A0SR AR & NGO TS 1)

#01 : Tell me the names of the 3 meals that people generally eat a day !
(JCT S fo (11 ARG NN @STT Gl MRee A effefre 1)
®ed: The names of the three meals that people generally eat a day are breakfast,
lunch and dinner. (fS95T AR TN @S FICF FRTS fofme (AT AT ETefer 2e=T-

STRRICETR T, LR AR AR AT AR 1) Sentence-SeT (AT (AT

fo04T, CSIITa GOl #ICoT !

# 02 : What time do you have your breakfast?
(TG T i &= FCH AP (O AFITR T@[?)
®ea: 1 have my breakfast at 8 am. (= S AR SN FFCT @ FF b Bl 1)

# 03 : What time do you have your lunch? (S0 3531 ¥ (I AT CONF #T15?)
Teq: | have my lunch at 1 pm. (ST (AT <A SR o AR S5 I 1)

# 04 : What time does your dinner begin? dinner T &1 T 7 |

( FFGR T (SINE ACoA AR OF 2?) O begin-4q A ‘S’ TR |

Ted: My dinner begins at 9 pm. (= SN TS AT &F T A TAG 1)
A
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“ Lesson # 23-93 @ 979t <2 important ”

# 05 : What time does your dinner end? (= FICR (O ACOH AR (*1F 2T ?)

Tea: My dinner ends at 9 pm. (= ISR 0O AR (¥ = IS FAGTH 1)
# 06 : How long does his dinner last? (= Fo% M ©F &K 56 ?)
®ex: His dinner lasts 30 minutes? (=SIF ACS AR 5 fal fiAG 031 1)

Khnife (713%) =¥ Fork (F3%) = F161 5% | Sentence-%t=T
\ (AT ARG A (TS

# 07 : What do the British use to eat with?
(&S 4RE (2Te FF 7= F?)

®&x: The British use a knife and fork to eat with.
(Bfowrr 72 02 g4 @ 15T BING <eq= &= y)

Many (csf¥) More ... than The most
(STCF) (SNCT @ .. GE) (TR @)
Few (f&¢) Fewer ... than The fewest
[N ~ (72 A3 b} (WA FT ... (BCF) (ST FW)
Much (%) More ... than  The most
(STCTF) (SNCT @ .. BE) (TR @)
Little (fe5%7) Less ... than The least
(FV = (92 18 5) (RPN ... BCF) (ST FN)
Exception Quantity Singular

(= Tfe@T) (= =t (= GFTRATF)

(EWWW use ¢ T {eog sentence-@mﬂ@

a) “Many” and “Much” have the same meaning, but we use “Many”” with things
which we can count. (= Many € Much-43 <tz 938 94, 58 SI=@1 3=« i
Many &R f&RER L QT 26T F1 AT 1)

b) For example: We can count pens - 1 pen, 2 pens, 5 pens etc.
o @ @ SR N @S A - GG T, 73S o, Ao Fo Topivr |
c) We can count books, chairs etc. S SI=@1 (63171, (537 @$fS o Fa0e Al |
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“ bR @SN practice I TS | (AT I#CS AT ”

d) Generally, the things which we can count take an ‘s’ in the plural.
(RS, @ f&foT @utel SR @olts #1f G s ° . plural-Q = plural 533 1)
@NF: books (= IR, pens (= I, chairs (= GARSET) Topin |

e) ‘People’ is an exception. It has no ‘s’, but we use ‘many’ with it.
(People =T @061 Ffowy | GO A ‘s’ 71, 68 A& many FIRT I A GO
e 1) NN: many people, I, people S4E = FICHAT |

f) On the other hand, we use “much” with things  which we cannot count.
(ST, ST J9ER much & T&RER AT @O ST A& @S 1)
2) For example, we cannot count water or sugar.
(CwrRerRel, SISl @ers 217 7 2w q1 ol 1)
h) We cannot say one water, two waters; one sugar, two sugars etc.
(o= @35 At , 73 Aifvefr, o o), w2t e Son s=cs wnfa =1 1)
i) These things are uncountable, and take no ‘s’. Money is no exception.

[ @ f&feptefe SmemIery O3 ‘s’ T 91 | Money () =Mb1e «q o = | |
O VI, moneys I 1 |

j) We can count money, but we do not say one money, two monies.
(SR BIl welts A7, @SR 961 Money, BB1 monies 1)
k) We say one taka, two takas; one dollar, two dollars etc.

(ST 3T 9= taka, two takas; one dollar, two dollars 5w 1)

@n\ 8 answer ey prac@

# 08 : What’s the difference between “many” and “much” ?

SR : AL many GR much-93 T2
FAT : (N 8 -7 N4y AdFT F?

(A) The difference between “many” and “much” is that
(many QR much-93 L *14F7 2= 92 @)

(B) we use “many” with things which we can count and
(ST IRR R many G FEGTER AL @@ ST @6ire Al @R)

(C) we use “much” with things which we can’t count.
(SR FER IR much R FERER & @@ SIET 2160w F90e A 1)

A+B+C
e @61

sentence !
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(few 8 little 3>ItF o ferete of$ +9%1 @ Job Exam-93 &«78 important)

#09 : Tell me a sentence with “many” in it! ( 1 ST GG I many-T= GBI W 1)
Tea: There are many cars  in a large city. (= Wt St I @36 @ *=ea 1)
There are many shops in a large city. (= 90! JC *=(F NAS AP ST 1)

There are many schools in a large city. (= 95067 @ =0T WIS T AN 1)

#10 : Give me a sentence with ‘much’ in it! (= JC=T SNCF GG AT much ez 1)
®&a: 1do not put much sugar in my tea. (= fsl W& 7 o o SI== oI-1 1)

Few S little-a3 *iidsr

Many sugar
BRSO

@ “Few” and “little” also have the same meaning,
(few @& little-9q8 =tR 958 9Y,)

but we use (287) “few” with things which we can count, and
(58 S 3929 I few” @9 FERER 0L @ETET SRET TS A1 @)

@ we use “little” with things which we cannot count.
(SR use ¥ “little’ @7 FENER AL @STE T @4ITS A 7 1)

# 11 : What’s the difference between “few’ and “little” ?
(few G little-a3 STy “14FT F1?) little =

(72 FECR 50 |

The difference between “few” and “little” is that we use “‘few” with things
we can count and “/ittle” with things which we can’t count. (= few @ little-
T WO ST 9B @, SR few I9TR I @R FGEOR AL @@ A= F0 A
G ST [ittle [ITK I @ AN TEET AL @ST WNGT @TS A 1)

9% @3¥ structure e
itat I8 Iy o e
TS AT | @:

5) BIFT @ BBAT ALy W 2
)G e Tes  ALT I 2
©) VISHS AT “I1<FT F 2
The differenc between x and y is that x is ... and y
is ... GO TR AT G [ 70O IS | qONT 4%
3R afelb 17 ey S Ig7aW I3 TS AR |

#12 : Tell me a sentence with “few” in it.
(ICT S GG IPT ABR T few-71= 1)
®&x: There are few tables in this class.
(FW GfRFR R 9 FI0T 1)

# 13 : Give me a sentence with “little” in it !
(ST GG 197 0T GBI Neey ittle HR)

©eq: [ drink little milk.
(SNIfST 7 21 T R B 1)

* few milk <771 91 20 |
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| Many (I = =t5%) @R Few (8 = =g))-«a =1 N1 Tipe |

# 14 : Are there many pictures on these walls? (42 (MAFLEICS & TS =< AC=?)
-
®
No, there aren’t many pictures on these walls,
(1, 9 (AAFTGCEICS NI SAPE 2, )
but there are few pictures on these walls. : P =
IR G2 (LTS B (1R IR 0T 1) - = 3
#15 : Are there few people in a large city? (= 9916 q@ *=q & W EIF ACH?)
No, there aren’t few people in a large city, (7, 935 I *1=C I T AT 1,
but there are many people in a large city. IR GFf6 IC =T NS TS AT 1)
D Y T IT D bm @A ! z
Much (%) = == | Little (7157) = =g | 357 (531, @-5T (IRIReT
#16 : Do you drink much juice? (S« & wta g A« Fcave) " R N T
Teq: No, [ don’t drink much juice, but I drink little juice. S T |
(A, S ST o AN B AT, F7R S o T W= 1)
#17 : Do you eat little bread? (= 9% & re =% #f5?) QIS AT
®ea: No, I don’t eat little bread, but I eat much bread.
(AR s, w g we w ) |~ LW IR
TIPS e A SO o A || 351 water, o5 milk

Apples Cherries Grapes Olives

Oranges Watermelons Peas Coffee

COUNTABLE NOUNS UNCOUNTABLE NOUNS olofe T I 2T 7 |
<

“;P i SIefor ¢-B1/ QBT

Milk  Honey ij'ter GO O T AR T |
’ ©I%, TR A

N Jittle =z |
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Ry FF MG Fewer 8 Less-99 QT ORI TF D

#18

#19

#20

®ed: There are fewer pictures in this room than chairs.

#21

fewer ... than less ... than milk (=) bank

7K 9 763 B\ yq IRE

3% faew <RI PR, rule e =3 !
The difference between “fewer ... than” and “less ... than” is that
( GIRESS fewer ... than & less ... than-43 Y T @)
we use “fewer ... than” with things we can count, and
(ST 2R I fewer ... than @R fENER @ETE SINET 4TS 7 @3R)
we use “less ... than” with things which we cannot count.
(ST 72 IR less ... than & f&fNER 0 @ ST @eCo A

For example, “I have fewer thumbs than fingers. 1drink less milk than water”.

TAIRRETH, “SF SR T JGT NG Sy SIS (BT | N A S I 94 M= (607 1)

: What’s the difference between “fewer ... than” and “less ... than”?
(I Ay fewer ... than &R less ... than 93 SC4?)

: The difference between “fewer ... than” and “less ... than” is that
weuse “fewer ... than” with things which we can count, and
weuse “less ... than” with things which we can’t count (¥1S5).

(TFCHT ... than a3 less ... WIF-GF N7 AT T @2 @,
SR IR IR fewer ... than @R TGNER AL QT SEET Q4TS AR @3
SR IR I less ... than @ TGER AL @TE SNET @9TS Al 7 |

: Tell me a sentence with “fewer ... than” in it!
( I SCF GG T @BIF NG fewer ... than STRY)

(ST 3 &S SR 92 WF GAIE (G0 1) 00 T fored
( 92 TR (GAER TRAR (BT B TR ) R T
( 92 T @2 FIG! (B R 29 R O (50T W) sentence-&C |

: Tell me a sentence with “less ... than” in it !
(ICT SANCF @61 AT less ... than TR)
: T eat less food than my brother. (= SIS U2 T AR W ©1Z-9F BT 1)
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“ Write, Write and Write ~ IR (M0 (TX 7T 432 &Fat

# 22 : Are there more people in Dhaka than in Bangladesh?

(Tefd Q@M EI BRICS IREIACR (BTA?)
= JRCACHT (5T DIFICS fF (& =TI A2
= JRCACH TS (T WCR, BIFICS F O (507 @ T AT ?

®ea: No, there aren’t more people in Dhaka than in Bangladesh,
(T, BIFICS JEATCACHT B @ @I ACS =1,)
but there are fewer people in Dhaka than in Bangladesh.
(TR BIICS AIFNCAC (5T F (I A 1) }

#23 : Do you drink more milk than water? (9% & #iife (bc G a1 21 F2?)
®ed: No, I don’t drink more milk than water, but I drink less milk than water.
(@, =fS =9 3 w1 & 9y onfaw o, 2R I A B I 79 Mf G 1)
#24 : Do you have more money than Bangladesh Bank?
(o= SR 6 @1 o1 g IR HRTF (5TR?)
®ed: No, I don’t have more money than Bangladesh Bank,
(ST, JAFCH! FFIF (BT SR B0 @ =g 712 )
but I’ve less money than Bangladesh Bank. ﬁﬁw RERRLA
(TR SR 0z ¥ 9 Bangladesh IR BT 1) 9 a7 3R ! )

-
of¥ TTe o
&2 # 23-93 NCof

#25 : Do you eat more meat than bread? (= o & a8 @R W31 w7 vea?)
®ea: No, I don’t eat more meat than bread, but I eat less meat than bread.

(T, S AR A @ WA oA e TR, SN AT F AR oA (50 1)

the fewest (= 060 T3 W25F);  the least (= FRCGE T AT

The difference between “the fewest” and “the least” is the same as that
(ST WY = @ 57 = @ ALHBT) between “fewer ... than” and “less ...
than”. (= The fewest @R the least-&7 L AL =CT ‘fewer ... than® 9R
‘EF ... W -GF M ALRIOE OOl G2 T 1)

~ The difference between ‘the fewest’ and ‘the least’ is the same as
the difference between ‘fewer ... than’ and ‘less ... than’.
.
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“ Career-changing ” Lesson # 23

fewest 8 least (Fi5)-49 QT T AT

(A) We use “The fewest” with things we can count,
[SISET the fewest JITR Ffa @1 f&fT0om= M @ 57 et SU==r oo Fcs =11f |
(B) while we use “the least” with things we cannot count. /” A + B fSteT 461 =97 |

[erfie, SR the least TITR I @ &R AL @ETAT SN TS A 7 1]

For example, “Of these three places, Dhaka, Khulna and Teknaf, Teknaf has the
fewest buildings”, (SARRETEA, BIFI, I IR GFAE @R FoF GRIAR T4y, GFACF AT
Y AT AR 1)

“Of these three people, Mr. Rony, Mr. Rana and Mr. Arif, Mr. Arif drinks
the least coffee”. (G A, GIK A GR GFIK NETF-GF 0L GFIK AT FIGIRCS T

AT /17 7 1) { ——

TR AT IO IFOICS F91 T fewest buildings
IR SBICS I =T [east coffee |
least buildings 71 91 =3, S {75 (o7 Vel a1 A7 |
R FIF ST Wl TG T A, O12 Jeast I 20| least N FICHE I AR |

[ QR &N-BGE YT IIFT practice I IS ]

#26 : What’s the difference between “the fewest” and “the least™?
@uEey W fewem @RI w R gw wr W3S
(= “the fewest” @R “the least’-&3 Ny AT F12)

(A)  The difference between “the fewest” and “the least” is that
a fewem fQEw W RREE @v w BT 2 Wl
(the fewest 9% the least 93 W<y “14F7 =C11 98 @
(B) we use “the fewest” with things which we can count,

TRy Gy ‘mr PO SRy fy =¥y SRy WU AT,
(ST =R R “the fewest” @11 TGfTER AL @ ST @9TS A )
(C) while we use “the least” with things which we can’t count.

@A Oy 3oy ‘mr Frp” Ty fAwy 23n ©f W4T ST |
(TN RN 2R I “the least” 7 TGN AL @ST SRET 21T @o0s | )

A+B+C
et @51

sentence !
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“ Life-changing ” Lesson # 23

#27 :

%’\'ﬁ‘:

#28

#29

#30

# 31

: Of these 3 books, does this book have the most pages?

: Who eats the least food in your family?

: My mother drinks the least coffee in my family.

Tell me a sentence with “the fewest” in it ! (= T IS @6 167
@ S EEGT SR “the fewest” 2 33 ! «GTR WK the fewest TR !)

In my family, my brother is the one who reads the fewest books.
| AR W, MR qmm W e 7 fey W RRews 39
(SR #AfRRICE, SWE ©1 2 (1R @& @ ACE QA N 94Q)

: Tell me a sentence with “the least” in it! | (=3 SWCF 6 IS

@ W oW eEm SR ‘m BT 3 [/ | GBR WO the least R 1)

: In my family, my sister is the one who eats the least bread.

W Wi, W PPPR W W § W W 6 @,
(R 2RI, AR @I 20T @ GFS (@ A A I 6 1)

oT Ay @, TR Rl q@ e W @new iR
(a?@aﬁmmm,ai@%w%wwa@ﬁm@‘r?))

No, of these 3 books, this book doesn’t have the most pages,
G, o AW 31, ] 37 TR IR W @GS RE,

(7, @3 foafs B0 oy, @2 /@ 2 TR G =§BT,)
but it has the fewest pages. (IR €% IZCI FACHC I 78T AL 1)
A6 2B IR W s (AR | g

SrDS

g %P W PR gy 3 TR Wik

ArepngEoo) JmewnIS

(CP R OO0 P [ (O #Hf1ea?) Studeln:y
al
: My grandmother eats the least food in my family. vocaP¥
(SR WY, A OO I AR SR AR 1)
: ?
: Who drinks the least coffee in your family? R GO AT

(3 T w F5 3 2 2w @)

NZ wwE R W FRG wRe 2 Wi wif I S AR 1)
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“ SiFIES ~ enjoyable (FITECAZI) ” Lesson # 23

# 32 : Ofthese 3 foods, bread, meat and salt, do you eat salt the most ?
Ry B orer @e, fF S W, y oW T B W (NET 2
(92 fors amy, Ff5, T 8 #1997 Teey, o F e =1l 74(f4?)

(A) No, of those 3 foods, bread, meat and salt, I don’t eat salt the most,
o, SRS BoTe  @e, fiF W, gy Wy, W oW anes,

(T, (5, Mo 8 79 @ foafb Aewss Toay, SN &_e A2 =7 Ko @,
(B) but I eat it the least. (Y R %y 25 W o5 = Jar @51 S 7T I3 A2 1)
# 33 : Of these 3 drinks, water, milk and juice, do you drink juice the most?
o< a2 ® foem, emon, fr@, @@ @1 g W few g oW ongw
(719, 78 R T AN 92 foafl 2= Seay, o 6 ot 7_0eea @& ans?)

No, of those three drinks, water, milk and juice, I don’t drink juice the most,
o1, onel B e, e, e o@v w, e e e oness,

(7, A, 7Y @R o7 & FoafS AN-92 ey, iy g7 FH130S Q& 212 )
but I drink it the least. (AR =E QT LW P = I N BT FCHE I3 AR 1)

#34 : What’s the most expensive thing you’re wearing?
@R W @NS% @IPe R 3Tww ewe ¢
(FTRCH @M AT et o T A" ?)

My watch is the most expensive thing that I'm wearing.
TEoemn W OW WSS Ei-Pe R wig W et

(I Tro-9f% 200z A0 Wi f&fwer QBT M T AfR)
| % e i |

(A) A new lungi is the most expensive thing that the poor man is wearing.

(B) A 50 thousand taka mobile is the most expensive thing that Adnan is using.

A @& B =T complex sentence 31 G 17
FRA A new lungi is the most expensive thing == @361 sfs Ie37 A1 = sentence |
SRIA that the poor man is wearing ¥ 91 Sl 7 T T4 7847 |
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4[“ English @ Sis= @I 15901 72 ”]7

(AT (AT VBT private AR 36-08 A0S ¢ | (=G SFET S 0T AT
QNCEGT | @ ©Ifffoq =@ English & SITst (A2 WK 492 positive
Rl | WA T S - Ferd help THCS S 2 T, S@ifur's
Math ¢k S@ifur’s IBA (MBA) Question Bank ft® 512 |

= - English-a3 &« & Ate ?

e Siw English 0T BIGT problem =12 |
O O 4G QNI 9267 (M2 |

GFGT AT JRET FIRTIGT (BTF @ ©IF answer FACS 3T |

(T 99T answer ! | ST - IR (A1 AT, [T D€ ET 9T I |
O3 I T (AT =G | QI8 QT AT 7 |
O (X7 I, ©IRCT answer (FIor 2 ©IF (T I 8-51F W4T

Q@CRY ©-GIR ROl 1, SR JIfBBIR A answer |
O ©OICF YT page Gro AT JREN [TRAT € AL QTS I |

AT ATE (T 61, G2 201K Al 92
SR OIS JEEN, W 9N |
e «8 9861 YO - S@ifur’s SRmARHT e |

Fill-in-the-Blanks-93 @361 question-43 5EGT option-4 (AT word-T==

PIBIRE WL IECS AT 7 |
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SRR ©ICP R GIRYT #IGCS e | IR AT *F1 94 (37 92 I261-8
e 51 | @ S fereerT e @, IBA-3 English-@3 &5 o1
I I 92 AR 2 ©4F G7 02 0T Socet

AT
YR English @<

J3@a English-«3 Sty
T AT,

TG S@itur's-9 < P
RO 1 |

SR T ANwd IBA-F MBA-G3 55-57 3304 AF 06 T (oI |
2 Sfoeeel (A RN ERT SR

e student IC IQ I AL A A

e Sir: 01915 230 210
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